Four bulbs are connected in the circuit below to a 100 V

POWer source.
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a) Determine the power dissipated by each bulb.
b) Another bulb is connected parallel to bulbs B and C.

How does the brightness of each bulb change?
Bulbs A and D are...

__ brighter ___dimmer ____the same
Bulbs B and C are...
__ brighter ___dimmer ____the same

Explain.



Determine the terminal voltage of the battery for each
circuit.
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Four bulbs are connected in the circuit below to a 100 V
power source.
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a) Determ{ne the‘ power dissipated by each bulb.
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b) Another bulb is connected parallel to bulbs B and C.
How does the brightness of each bulb change?
Bulbs A and D are...
_V brighter ___dimmer __ the same
WHEN ANGIHER RESISTOX 1S ADDED 1N PARALLEL

To RBuLRS & AND C, THE -TeTAL RESISTANCE oF
THE ciRcurT DECREASES. BY OHMS LAW , THE
DEcRBGASE N RESISTANCE RESOLTS IN AN
INCREASE (N ToTAL CURRENT . AS THIS ToTAL
CURRENT PASSES THRouGH BULBS A and D
THE POWER AND THEREFORE -THE @RIUHTNESS
Inceenase (P=I1%  Pe=]").

Bulbs B and C are...

__ brighter v/ dimmer __ the same

Explain.
AS Mble CULRENT PASSES THROUGH RuLRS

A AND D, BY OHMS LAW A THE PGSTENTIAL
VOLTAGE ACROSS THE RULBS (NCREASES.
SINCE N7 HAS NOT CHANGED , BY
KIRCHHOFFS LooP QULE, NV, AND N, MUST
DECREASE. THE POWER AND THEREFORE THE
BRIGHTNESS Deceepse (P=%  Pe\™).

ALTERNATE TXPLANATUON FoRk BULLBS B AND C°
AS A BULB (S ADDED IN ParALLEL To
Bues B awD C, THERE IS A NEW PATH
Foe CURRENT TO fFLow. THIS REDULUCES THE
CORENT To & AND ¢ THE POWER AND
THERE FORE THE RRIUHTNESS DECReaSE

(P=1% P=]").



Determine the terminal voltage of the battery for each

circuit.
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